KEEESHEMEE (-12m) ks TS

EHES 16-11-21-024
EiERaF $TEMFIEER
EHBET -8B RE FHEBZ
BE  KSE

ZE@H 0m

FERS

FHIRE

FHEEH

BEo#a




WIER KEEESHRMBC12mTHFEEIE

% # A - BRHE By ¥ 8 i & & =
EREIEE 128, 257, 002
MEIEE 11,328,810 + 31,434,724 42,763,534
HBEREE (GD 2,004,527 + 8,580,393 + 743,890 11,328, 810
HBRFE (BE) 2,004, 527
HBEREE (F) 128,257,002 x 6.69% (4.59% +1.50% +0. 6%) 8, 580, 393
BERERER 128,257,002 x 0.58% 743, 890
REEEE 139,585,812 x 22.52% (21.52% +1.00%) 31,434,724
TR 128,257,002 + 42,763, 534 171,020, 536
—REEERE 171,020,536 x 14.30% (14.30% x 1.00) — 4,880 24, 451, 056
R REEE 171,020,536 x 0.04% 68, 408
Tl 171,020,536 + 24,451 056 + 68, 408 195, 540, 000
HEGEHRLE 195,540,000 x 10. 00% 19, 554, 000
FEIZRE 195,540,000 + 19, 554, 000 215, 094, 000




BEARRE KEEEBHRMBI2mTSEETE

% [ BiE - BTk Bifip B B T # m B

EEIERE 128, 257, 002
ARk (-12m) e E% 128, 257, 002
AAEI [SXRHR] 128, 257, 002
RRT 128, 257, 002
E BT 128, 257, 002
1 EMEH 1.00 383, 532 383, 532

=
2 BMBERE 71.00 57, 381 4,074, 051

m
3 HEXRRMHE 1.00 108, 490, 119 108, 490, 119

=
4 HERRITER 60. 00 255,155 15, 309, 300

V.
HERHKE FEL) 2,004, 527
HERHZE 2,004, 527
Ef - 2 VE 1,116, 534
FARY 1,116, 534
5 ZU\iE EEHMR 2.00 558, 267 1,116, 534

[=]
EiRE 97, 344
TR EE 97, 344




BEANRE

KEEESHRMBC12mTHFEEIE

£ [ I - KT B £ fili % W OE
6 {REEMFE M B 1.00 97, 344 97, 344
=®
R HE 742, 495
BEREK 742, 495
1 REEEM 1.00 742, 495 742, 495
=
HirEEE 36, 400
HiifrEE 36, 400
8 HiTEEE 1.00 36, 400 36, 400
=
KE - BEERERH 11, 754
KERIEH 11, 754
9 KERBRHEOD g L—tEmhm 1.00 4,545 4,545
=®
10 KERKRHO EEHEM 1.00 7,209 7,209
=®




Rffik -/ \v7r—o

KEEESHRMB12ZmAHERTE

= :1
2% EMEH 1zt Yy
4 b g - BKTE BAGL H = B %5 W = 5 &
EER H300 x 300 x 10 X 15mm x 20. 9m
X 4.00 717, 373.00 309, 492
gz H300 x 300 x 10 x 15mm % 10m
X 2.00 37,020. 00 74, 040
& B YEZEEH - 1. 00K 383, 532. 00 383, 532
52
& BMERERE A2 Y (10m)
£ b R - BRTE BRL #H =2 B % = i &
g L—ftEMm 45~50tm
=] 0.70 320, 055. 00 224,038/6.00H / 8H
& 30075
B 0.70 111, 660. 00 78,162 8H
3fin £ED 450PSEY
=] 0.70 145, 227. 00 101, 658 2. 00H / 8H
58 $HD 5t
B 0.30 196, 450. 00 58,935 8H
N Janvv 60kW (U L— &, EEHM)
=] 0.70 34, 245. 00 23,971/6. 00H
B &) D300A
B 0.70 4,385.00 3,069
HEEEER (RAI : xR - .  GEH AR xERE) 150kVA
BT SHBERE) 5] 0.70 22, 447.00 15,712
HEE%
A 0.80 21,700. 00 17, 360
LU
A 1.30 22, 600. 00 29, 380
BEI
A 0.20 23, 400. 00 4,680
LEEXEE
A 0. 80 17, 500. 00 14,000
A H EXZNOY)
% 0.50 570, 965. 00 2,854
& B YEXHEH : 10.00m 57, 381.00 573, 819




Rffik -/ \v7r—o

KEEESHRMB12ZmAHERTE

&5 :3
2 HERBRMHE 1KLY
2 L I - BT By = B O{HE & %8 W = 5 &
HEXIRD ¢ 1100 x t14, L=26.2m, 1R = ER
X 1.00 2,226,812.00 2,226,812
HEXIR® ¢ 1100 x t14, L=26.2m, 1ZHEE
X 59. 00 1,801, 073. 00 106, 263, 307
& &t fEEEEH - 1.00K 108, 490, 119. 00 108, 490, 119
&5 4
2 HERRITER 1B3Y (7.8K)
2 L & - BRTiE By = B O{HE & %8 W = 5 &
NATAanNn EEM - MERIRITHRI) |200kW
B 1.00 148, 020. 00 148,020 6. 00H
WMEFrYv o (v MERAN,TO) 200kW
=] 1.00 67, 065. 00 67,065|6.00H / 8H
EEE R GEfieED) $AD 200t/
B 1.00 1,046, 796. 00 1,046,796 6.00H / 8H
& 3003
=] 1.00 111, 660. 00 111, 660 8H
3 fia $MD 450PSEY
B 1.00 145, 227. 00 145,227 2.00H / 8H
5o D 5t
=] 1.00 196, 450. 00 196, 450 8H
RENREH (RET : HEN - MEXIRIT | 600kVA
BRIICKDBIGEE) B 1.00 103, 095. 00 103, 095
HEER
A 1.00 21,700. 00 21,700
EUI
A 3.00 22,600. 00 67,800
LEEEES
A 3.00 17, 500. 00 52,500
YR IEXE
A 1.00 20, 000. 00 20,000
MM £HRD%
% 0.50 1,980, 313. 00 9,901
& R YE¥8EH - 7.80K 255, 155.00 1,990, 214




Rffik -/ \v7r—o

KEEESHRMB12ZmAHERTE

&8 :5
&% ZAVME EEHEMN HEER
4 b g - BRKTE BAGL 2 B £ = 5 &
PES T
= 1.00 285,147.00 285,147
=)
= 1.00 273,120. 00 273,120
& R YEZEEH - 1.00[=] 558, 267. 00 558, 267
&5 :6
& B EER BH =)
4 b g - BRKTE BAGL 2 B £ = 5 &
EVMEHEES
= 1.00 68, 544. 00 68, 544
mEL - BEAAERA
= 1.00 28, 800. 00 28, 800
& &t fEEEEH - 1.00K 97, 344. 00 97, 344
&5 :1
& REESEMR =10
4 b g - BRKTE BAGL 2 B £ = 5 &
REERM FRP D 180PSE!
=] 9.00 82, 089. 00 738,801/6.00H / 8H
MM EXZDY)
% 0.50 738, 801. 00 3,694
& R fEEEEH - 1.00K 742, 495. 00 742, 495
&5 :8
2 HiNEHE 1zt Yy
4 b g - BKTE BAGL 2 B %5 W = 5 &
EZAYUITRE KIRFEITHREIRT
= 1.00 36, 400. 00 36, 400
& &t YEEfEH - 1.00K 36, 400. 00 36, 400




Rffik -/ \v7r—o

KEEESHRMB12ZmAHERTE

&89
2 KERRHD s L—2ftER X4
% E A - BkTE B = il &R i &
KERER
= 1.00 4,545.00 4,545
& it fEErEH : 1.00 4,545. 00 4,545
ES:10
&% KEREHO EEHMR 1X5Y
% E A - kTE B = il &R i &
KERER
= 1.00 7, 209. 00 7,209
& &t YEEBEH : 1.00 7,209.00 7,209




